

A NEW PARAMETRIC BERNSTEIN POLYNOMIAL

ARTI SHRIVASTAVA

**Abstract:** Some parametric generalization of the Bernstein polynomial is obtained here. Corresponding to that necessary and sufficient condition for uniform convergence is obtained.

**Keywords:** Bernstein Polynomial, Convergence.

**Introduction :**

Let  $C[a, b]$  be the space of continuous functions on  $[a, b]$ . If  $F(x) \in C[a, b]$

$$\|F\| = \max_{a \leq x \leq b} |F(x)|$$

Let  $F(u) \in C[0, 1]$ ; the Bernstein polynomial of order  $n$  is defined by [1], [3]

$$B_n(F(u), x) = \sum_{i=0}^n F\left(\frac{i}{n}\right) P_{n,i}(x),$$

$$P_{n,i}(x) = \binom{n}{i} x^i (1-x)^{n-i}$$

Let  $t (\geq 0)$  be a real number. Then a parametric Bernstein operator can be defined as follows:

$$B_n^t(F, t, \frac{x}{t}) = \sum_{i=0}^n \sum_{j=0}^{t-1} F\left(\frac{i+j}{n+t-1}\right) P_{n,i}\left(\frac{x}{t}\right)$$

Let  $s_n$  be a sequence of natural numbers converging to  $t$ .

Let  $n \in N$  where  $N$  is the set of natural numbers and let  $F(u) \in C[0, 1]$ ; the new parametric polynomials are defined by

$$C_n^t(F(u), s_n, \frac{x}{t}) = \frac{1}{s_n} \sum_{i=0}^n \left( \sum_{j=0}^{s_n-1} F\left(\frac{i+j}{n+2s_n-t-1}\right) P_{n,i}\left(\frac{x}{t}\right) \right)$$

If  $s_n \rightarrow t$ , then

$$C_n^t(F(u), s_n, \frac{x}{t}) \rightarrow t B_n^t(F, t, \frac{x}{t})$$

and when  $s_n \rightarrow t$  and  $t = 1$  then

$$C_n^t(F(u), s_n, \frac{x}{t}) \rightarrow t B_n^t(F, t, \frac{x}{t}) \rightarrow B_n(F(u), x)$$

Thus  $C_n^t(F(u), s_n, \frac{x}{t})$  is an interesting parametric generalization of the Bernstein polynomials.

**Some Results :**

**Lemma.** Here we prove the inequality

$$0 \leq \max_{0 \leq x \leq 1} C_n^t\left(\left(u - \frac{x}{t}\right)^2, s_n, \frac{x}{t}\right) < \frac{4}{3} \cdot \frac{(s_n - 1)^2}{n^2} + \frac{13}{12} \cdot \frac{1}{n}$$

**Proof.** For  $0 \leq \frac{x}{t} \leq 1$  we have

$$\sum_{i=0}^n P_{n,i}\left(\frac{x}{t}\right) = 1 \quad \dots\dots (1)$$

$$\sum_{i=0}^n i P_{n,i}\left(\frac{x}{t}\right) = n \left(\frac{x}{t}\right) \quad \dots\dots (2)$$

$$\sum_{i=0}^n i^2 P_{n,i}\left(\frac{x}{t}\right) = n^2 \frac{x^2}{t^2} - n \frac{x^2}{t^2} + n \frac{x}{t} \quad \dots\dots (3)$$

$$C_n^t\left(1, s_n, \frac{x}{t}\right) =$$

$$\frac{1}{s_n} \sum_{i=0}^n \left( \sum_{j=0}^{s_n-1} 1 \right) P_{n,i}\left(\frac{x}{t}\right) = \sum_{i=0}^n P_{n,i}\left(\frac{x}{t}\right) = 1$$

..... (4)

$$C_n^t\left(u, s_n, \frac{x}{t}\right) = \frac{1}{s_n} \sum_{i=0}^n \left( \sum_{j=0}^{s_n-1} \left(\frac{i+j}{n+2s_n-t-1}\right) \right) P_{n,i}\left(\frac{x}{t}\right)$$

$$= \frac{1}{n+2s_n-t-1} \left( \sum_{i=0}^n i P_{n,i}\left(\frac{x}{t}\right) \right) + \frac{s_n-1}{2(n+2s_n-t-1)} \left( \sum_{i=0}^n P_{n,i}\left(\frac{x}{t}\right) \right)$$

$$= \frac{n\left(\frac{x}{t}\right)}{n+2s_n-t-1} + \frac{s_n-1}{2(n+2s_n-t-1)} \quad \dots\dots (5)$$

$$C_n^t\left(u^2, s_n, \frac{x}{t}\right) = \frac{1}{s_n} \sum_{i=0}^n \left( \sum_{j=0}^{s_n-1} \left(\frac{i+j}{n+2s_n-t-1}\right)^2 \right) P_{n,i}\left(\frac{x}{t}\right) \frac{1}{s_n(n+2s_n-t-1)^2}$$

$$= \frac{1}{(n+2s_n-t-1)^2} \sum_{i=0}^n i^2 P_{n,i}\left(\frac{x}{t}\right) + \frac{s_n-1}{(n+2s_n-t-1)^2} \sum_{i=0}^n i P_{n,i}\left(\frac{x}{t}\right) + \frac{(s_n-1)(2s_n-1)}{6(n+2s_n-t-1)^2} \sum_{i=0}^n P_{n,i}\left(\frac{x}{t}\right)$$

$$= \frac{1}{(n+2s_n-t-1)^2} \left[ n^2 \frac{x^2}{t^2} - n \frac{x^2}{t^2} + n \frac{x}{t} \right] + \frac{s_n-1}{(n+2s_n-t-1)^2} n \left(\frac{x}{t}\right) + \frac{(s_n-1)(2s_n-1)}{6(n+2s_n-t-1)^2} \quad \dots\dots (6)$$

From (5) we get

$$-2 \frac{x}{t} C_n^t\left(u, s_n, \frac{x}{t}\right) = \frac{-2n\left(\frac{x}{t}\right)^2}{n+2s_n-t-1} + \frac{(s_n-1)\left(\frac{x}{t}\right)}{n+2s_n-t-1}$$

..... (7)

Since  $C_n^t(F, s_n, \frac{x}{t})$  is a sequence of positive linear operators, combining (4), (6) and (7) we get

$$0 \leq C_n^t\left(\left(u - \frac{x}{t}\right)^2, s_n, \frac{x}{t}\right) = C_n^t\left(u^2, s_n, \frac{x}{t}\right) - 2 \frac{x}{t} C_n^t\left(u, s_n, \frac{x}{t}\right) + \frac{x^2}{t^2} C_n^t\left(1, s_n, \frac{x}{t}\right)$$

$$= \left[ \frac{n^2 - n}{(n+2s_n-t-1)^2} - \frac{2n}{n+2s_n-t-1} + 1 \right] \frac{x^2}{t^2}$$

$$\begin{aligned}
 & +[n/(n + 2s_n - t - 1)^2 + n(s_n - 1)/(n + 2s_n - t - 1)^2 - (s_n - 1)/(n + 2s_n - t - 1)] x/t + (s_n - 1)([2s_n]_n - 1)/(6(n + 2s_n - t - 1)^2) \\
 & = I_1 + I_2 + I_3 \\
 & I_1 = \frac{x^2}{t^2} \frac{1}{(n + 2s_n - t - 1)^2} [n^2 - n - 2n(n + 2s_n - t - 1) + (n + 2s_n - t - 1)^2] \\
 & = \frac{\left(\frac{x}{t}\right)^2}{(n + 2s_n - t - 1)^2} [(2s_n - t - 1)^2 - n] \\
 & \leq \frac{(2s_n - t - 1)^2 \left(\frac{x}{t}\right)^2}{(n + 2s_n - t - 1)^2} \\
 & \leq \frac{(2s_n - t - 1)^2}{n^2} \leq \frac{(2s_n - 1)^2}{n^2} \\
 & I_2 = \frac{\frac{x}{t}}{(n + 2s_n - t - 1)^2} [n + n(s_n - 1) - (s_n - 1)(n + 2s_n - t - 1)] \\
 & = \frac{\frac{x}{t}}{(n + 2s_n - t - 1)^2} [n - (2s_n - t - 1)(s_n - 1)] \\
 & = \frac{\frac{x}{t}}{(n + 2s_n - t - 1)^2} [n - (s_n - 1)^2 - (s_n - t)(s_n - 1)] \\
 & \leq \frac{n \left(\frac{x}{t}\right)}{(n + 2s_n - t - 1)^2} \leq \frac{n \left(\frac{x}{t}\right)}{n^2} \leq \frac{1}{n}, \\
 & I_3 = \frac{(s_n - 1)(2(s_n - 1) + 1)}{6(n + 2s_n - t - 1)^2} \\
 & \leq \frac{1}{3} \frac{(s_n - 1)^2}{n^2} \\
 & + \frac{1}{12n} \frac{2n(s_n - 1)}{(n + 2s_n - t - 1)^2} \\
 & < \frac{(s_n - 1)^2}{3n^2} + \frac{1}{12n}
 \end{aligned}$$

Combining estimates for  $I_1, I_2,$  and  $I_3$  we get

$$\begin{aligned}
 0 & \leq C_n^t \left( \left(u - \frac{x}{t}\right)^2, s_n, \frac{x}{t} \right) \\
 & \leq \frac{(2s_n - 1)^2}{n^2} + \frac{1}{n} + \frac{(s_n - 1)^2}{3n^2} + \frac{1}{12n}
 \end{aligned}$$

**References :**

1. Bernstein S.N. (1952), "Collected Work", vol.I, Izdat. akad. nauk SSSR, Moscow.
2. Korovkin P.P. (1960), "Linear Operator and Approximation Theory", Hindustan Publ.Corp.
3. Lorentz G.G. (1953), "Bernstein Polynomials", Univ.of Toronto Press.

\*\*\*

Department of Applied Mathematics, SSIPMT, Raipur (C. G.), HIG-8, Kavita Nagar, Raipur (C.G.) Contact no. - 09826724447 E-mail address - [artishree@yahoo.com](mailto:artishree@yahoo.com) , [a.shrivastava@SSIPMT.com](mailto:a.shrivastava@SSIPMT.com)

$$= \frac{(2s_n - 1)^2}{n^2} + \frac{(s_n - 1)^2}{3n^2} + \frac{13}{12n} < \frac{4(s_n - 1)^2}{3n^2} + \frac{13}{12n}$$

**Convergence Of Parametric Polinomial :**

Theorem 1.It is necessary and sufficient that

$$\lim_{n \rightarrow \infty} \left(\frac{s_n}{n}\right) = 0$$

for every function  $F(u) \in C[0,1]$ ,

$$\lim_{n \rightarrow \infty} \|C_n^t(F, s_n, \frac{x}{t}) - F(\frac{x}{t})\| = 0 \quad \text{..... (8)}$$

Proof: Necessary Condition

In (8), letting  $F(u) = u$ , we get

$$\lim_{n \rightarrow \infty} \|C_n^t(u, s_n, \frac{x}{t}) - \frac{x}{t}\| = 0 \quad \text{and}$$

$$\lim_{n \rightarrow \infty} |C_n^t(u, s_n, 0) - 0| = 0.$$

From (4) we get

$$C_n^t(u, s_n, 0) = \frac{s_n - 1}{2(n + 2s_n - t - 1)}$$

hence

$$\lim_{n \rightarrow \infty} \frac{s_n - 1}{(n + 2s_n - t - 1)} = 0,$$

for  $\varepsilon = \frac{1}{2}$ , there is a natural number K such that for  $n \geq K$ , we have

$$\begin{aligned}
 \frac{s_n - 1}{(n + 2s_n - t - 1)} & < \frac{1}{2}, s_n - 1 < n, 0 \leq \frac{s_n - 1}{2n} \\
 & < \frac{s_n - 1}{(n + 2s_n - t - 1)};
 \end{aligned}$$

we get

$$\lim_{n \rightarrow \infty} \left(\frac{s_n}{n}\right) = 0.$$

Sufficient Condition. From (3) we get

$$C_n^t \left(1, s_n, \frac{x}{t}\right) = 1 \quad \left(0 \leq \frac{x}{t} \leq 1\right);$$

from Lemma 1 and  $\lim_{n \rightarrow \infty} \left(\frac{s_n}{n}\right) = 0$

we get

$$\lim_{n \rightarrow \infty} \max_{0 \leq \frac{x}{t} \leq 1} C_n^t \left( \left(u - \frac{x}{t}\right)^2, s_n, \frac{x}{t} \right) = 0$$

By Korovkin's theorem [2] we get that, for every  $F(u) \in C[0,1]$

$$\lim_{n \rightarrow \infty} \|C_n^t(F, s_n, \frac{x}{t}) - F(\frac{x}{t})\| = 0.$$

Corollary 1. Let  $F(u) \in C[0,1]$ . Then

$$\lim_{n \rightarrow \infty} \|t. B_n^t(F, t, \frac{x}{t}) - F(\frac{x}{t})\| = 0.$$

Proof: If  $s_n \rightarrow t$  from theorem1 we get Corollary 1.